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o FUCGRTHE % SaRFT FF o e TE A T SagHEAEr & g Y frar Faw T
PIC
Except answer-book, no extra sheet will be given. Write to the point and do not strike
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G (7397 -
General Instructions :

() @4 geT Sfard &

All questions are compulsory.
(i) TeGTeE JoT & qE [T g

Write the correct option in objective type questions.
(iii) T FoT F ofIaNG [AHT T JTET 81

Internal choice has been provided in some questions.

(v) &% F97 B oIF 3GH G790 77 8

Marks of each question are indicated against it.
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gUs — 3
SECTION - A
(Merp fomirr)
(PHYSICS)

1. Tl 3dor @ oM @R fael & g W @9 &, o Sidfdg ded dier & o ek ol

FTWIECTUT%: 1
(A) Fad TIIA (B) Bdd STaad
(C) el I (D) &1 a GHAS YT I

No matter how far you stand from a mirror, your image appears erect. The
mirror is likely to be :

(A) only plane (B) only concave

(C) only convex (D) either plane or convex

2. Tl foR[d o9 &1 oTgdi® 220 V 1 100 W 31 1§ 4 110 V T FEIfed & &, ad

5% ER1 IUYE M fehert il o ° 1
(A) 100 W B) 75W
(C) 50W D) 25W

An electric bulb is rated 220 V and 100 W. When it is operated on 110 V, the

power consumed will be :
(A) 100 W B) 75W
(€) SOW (D) 25W
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3. i, TR T BIeT T B 1

............. is the small unit of electric power.

4. g ¥ H9-9 T9 90 I 2 7 1

Which gas is filled in electric bulbs ?

5. frffad o # & &9 ¥ ¢ ofv@ee (A) SR &ROT (R), 997 3 99 R T Suge fasew

T HQ GU I AT 1
SRR (A): TF I F AT b Gals Bl THEING b oAl | WL &9 9 HHg
B B G B o

HROT (R): 39 e GHENN $ A & ©9 § J1 Sl 2
A) (A) SR (R) 3! 99 & @ (R), (A) % T e B
(B) (A) 3R (R) 3+t 9 &, AT (R), (A) N T8 IR &t B

(C) (A) & B, AlBT (R) THA &l
(D) (A) 3TFA T, AfB (R) T 2
The question below consists of two statements : Assertion (A) and Reason (R),

answer the question by selecting the appropriate option given below :

Assertion (A) : The eyelens has the ability to focus clearly on the retina by

adjusting its focal length.
Reason (R) : This phenomenon is known as power of accommodation.
(A) Both (A) and (R) are true and (R) is the correct explanation of (4).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.
2107/(Set : A)
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6. [l ofafer-aml & SRl Hiq @ STV I 4 Said &idr 8 ° 2

Why does the sky appear dark instead of blue to an astronaut ?

7. A IaE & gy B dRe W AR wRar g ? 2

On what factors does the resistance of a conductor depends ?

8. oW & e ® RWIG Hify gfeie 1 SI 7= SaRdl 9 & 9 & ogar =1 § |
qiee H FE FHBT A 3
(A) R=V/I (B) R=1/V

Define Ohm's law. State SI unit of resistance. Select the correct equation of

resistance in accordance to Ohm's law from below options :

(A) R=V/I (B) R=1/V

9. (a) foth 83 g% & ARl oY abig & YE@ Eifery 3
Draw magnetic field lines around a bar magnet.

(b) o o XEE & B @ T R

Write any two properties of magnetic field lines.

10. (2) 3fdqd SUOT & & B i GREm frfm 2
Define the principal focus of a concave mirror.
(b) 3G U H AW S A 6 1 Ger qen Eid gfafe S g 1
Name a mirror that can give an erect and enlarged image of an object.
() W awml § Iqq UV Pl U9T-g9F qUOT & @9 H qAA | ad § ? 2

Why do we prefer a convex mirror as a rear-view mirror in vehicles ?

2107/(Set : A) P.T.O.
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3TeE

OR

(a) el I| A 1 STZSEX &FaAT HI IRATT Hifo|

Define 1 dioptre of power of a Lens.

(b) 2 m BIhH G AT el oId Dl & T Bl

Find the power of a concave lens of focal length 2 m.
(c) =1 g i

Write the following formulas :

i) o8 g

Lens formula

(i) &Y G
Mirror formula
qig - §
SECTION - B
(e )
(CHEMISTRY)

11. e T | TF TEgENG 7 S & F1 8l & ! @8 Sk &l g
(A) TR N9 Td SRR FIGES a9 Bl
(B) FNAA I TG SR TEEIFIEE a9l 2
(C) =g arfufear wEf &
(D) STERT @Y g S| S+l &l
2107/(Set : A)
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(7) 2107/(Set : A)
What happens when dilute hydrochloric acid is added to iron filling ? Choose the

correct answer :

(A) Hydrogen gas and iron chloride are produced.
(B) Chlorine gas and iron hydroxide are produced.
(C) No reaction takes place.

(D) Iron salt and water are produced.

12. TN & Ube d MR & IUIG Eauit & S9M &g o9 &1 3 ST ? 1
(A) Ui iR A (B) “EgioM W WA
(C) agld g F W& (D) IUAE gt

What measures will you take to prevent the 'Namkeen' from getting rancid after
removing it from the packet ?

(A) Add anti-oxidant
(B) Fill Nitrogen gas
(C) Store in an air-tight container

(D) All of the above

13, . 9 Al sTERae €1y 2l 1

14. STEG ANEH B TS 3o F41 8iar & 7 1

Why do ionic compounds have high melting points ?
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15. fr=fofead gs7 & @ #oF ¥ : ot (A) o &R (R), U999 & 9 R W Swgw faeew
H T B gL I AT 1

STHET (A) : BANT X BRGNS T S~ BT &l

HROT (R) : SRS T QI [eqd @l Hiel Y adl ol
(A) (A) X (R) I & & T (R), (A) F T& AR &

(B) (A) 3R (R) I 97 &, AT (R), (A) F T v T2 2l
(C) (A) 99 &, AT (R) o9 B

(D) (A) T9H &, AfhA (R) T &l

The question below consists of two statements : Assertion (A) and Reason (R),
answer the question by selecting the appropriate option given below :

Assertion (A) : Our stomach produces hydrochloric acid.

Reason (R) : Hydrochloric acid turns red litmus blue.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

16. GISH ARARRAT § MY 1 9] & 7 9D GHIH ied g IeelT i 2

What is combination reaction ? Give one example with chemical equation.

17. RS 900 & VAR G AR 36% & ST fordl 2

Write the chemical formula and two uses of bleaching powder.

2107/(Set : A)
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e

OR
(2) ST & TgURAT F o, TR FIER I ol @ ¢ 1

Why do acids not show acidic behaviour in the absence of water ?

(b) STEIHOT STk &1 § ? U IameXel Qv 1

What is neutralization reaction ? Give an example.

AT
OR
T SITEIRT F97 -

Competency Based Question :

Al B HOX e [qaad d T AR § Fe + CuSO,4 — Cu+ FeSO, , & & 5@ ¥

BIT-41 [ohed TP AR IS Ui Bl Fef o § Sl & 7 2
forepe qare SR e IEES
A Fe Fe
B Fe FeSOy4
C Cu Fe
D CuSO, Fe

In the reaction of Iron with Copper Sulphate solution (CuSOy) :
Fe +CuSO4 — Cu+ FeSO4

Which option in the given table correctly represent the substance oxidized and
reducing agent ?

Option Substance Oxidized | Substance Reduced
A Fe Fe
B Fe FeSOy4
C Cu Fe
D CuSOg4 Fe
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18. = ARMiRaT & 18 Uee -G YT [T e S6s a6 Sicrd ol fofee, & ;3

Write word equations and then balanced equations for the reaction taking place,

when :

(a) TF GRIRE =T aMeR R & @y AR = B
Dilute sulphuric acid reacts with zinc granules.

(b) TF SRGEIND TR HIREH UTel & arY SATHBRAT BT ol
Dilute hydrochloric acid reacts with magnesium ribbon.

(c) T CSRGEING TR Q6 & 9 & AT AEHAT HI 8|

Dilute hydrochloric acid reacts with iron fillings.

19. difeg, SifRfioM T THIREE & 8 g fig d@em i 3

Write electron dot structure for sodium, oxygen and magnesium.

YqT
OR

TEEE O & SR W A O FErge § By a7 HAaR qasd| 3

Write any three differences between metals and non-metals on the basis of their

chemical properties.

20. (a) HEF F & T HA-G 5, B RO AR AR AR e AR B R g
feerg 3@ & ? 2

What are the two properties of carbon which lead to the huge number of

carbon compounds we see around us ?
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(11) 2107/(Set : A)
(b) <AF T THAME OTEHl F SMER W A T TAARE OF § A H SR H ? 3

How can ethanol and ethanoic acid be differentiated on the basis of their

physical and chemical properties ?

YqT
OR

(2) EEGISTHHIT HT & ? S AEH TN 1 & 7 2

What is hydrogenation ? What is its industrial application ?

(b) HIgT B GEE Gk B Rl qwEmEd 3

Explain the mechanism of the cleaning action of soaps.

3TeE
OR

T STEIRT F97 -

Competency Based Question :

T2 & 7 difee 99 @ R ™ g% et @

Y HE Had
1. A "A" FH AUH &Y F AR F IR » &9 F ST A e
2. "A" T b A STNERAT HX Hiel 1Y aren A "B AT B
IIUHT el & AR W = Ul & I o
(i) e "A" T A "B" B TEEM 1
(i) 9 AfE "A" TR @eT Ay oTBET AT B, @ dN-H W IO @ ?
TEEFS R ot 2
(iii) AT B §F ST € 2

2107/(Set : A) P.T.O.
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The table given below shows the hints given by source :

Sr. No. Hints
1. Compound "A" is widely used as preservative in pickles.
2. "A" reacts with Ethanol to form a sweet smelling compound "B".

Based on the above hints answer the following questions :
(i) Identify the compound "A" and compound "B".

(i) Which gas is produced when compound "A" reacts with washing soda ?

Write chemical equation.

(iii) Write two uses of Ethanol.

qig - 9
SECTION-C
(ot fam)
(LIFE SCIENCE)
21. 791 7 @ $9 AMa § T S O HB A & 7 1
(A) SfeE (B) T
(C) groatie (D) et
Which of the following is a part of the male reproductive system in human
beings ?
(A) Ovary (B) Uterus
(C) Vas Deferens (D) Fallopian tube
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22.

23.

24.

Fr=t & @ &9 qateacer B 787 2 ?

(A) HFTT H [ABTH

(B) THSI FHI T

(C) J=ma

(D) SWI gl

Which of the following is not environment friendly ?
(A) Paper bag

(B) Wooden stick

(C) Balloon

(D) All of the above

NN N

FANFANHE (CFC) T AT oo, WA F THAH TEaN B

Chemicals like CFC harms the ............... layer.

HF-G T B TEE TN B [T TSN @I STEaFRd Bl § 7

Which gland requires iodine to produce hormones ?

2107/(Set : A)

2107/(Set : A)
1

P.T.O.



(14) 2107/(Set : A)
25. frfefead a7 & @ %o ¥ : st (A) olR R (R), 999 & = R W Swgw faeew
H T B gL IAL AT 1

AHY (A): URY § T A JRa B BROT SEH B &l
RO (R):  PTeRieM T URY 8MIA &, St a9 &l gha § &8s ol

(A) (A) SR (R) 3! 99 & @ (R), (A) % T e B
(B) (A) AR (R) I~ 9 &, A7 (R), (A) P T& IR T B
(C) (A) 9F &, AfFT (R) 39 Bl

(D) (A) 3T9F 8, Al (R) T 2|

The question below consists of two statements : Assertion (A) and Reason (R),

answer the question by selecting the appropriate option given below :
Assertion (A) : Hormones are responsible for the growth of stem in plants.
Reason (R) : Gibberelin is a plant hormone which helps in stem growth.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

2107/(Set : A)
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26. Sfced fhar 7 Afkdeh 1w G © 2

What is the role of brain in reflex action ?

3TeE
OR

B9 U SFRERI & T & U1 Y @iy ? 2

How do we detect the smell of an agarbatti ?

27. PR TG ST I & e © 7 2

What is the role of the seminal vesicles and the prostate gland ?

28. I & AJeH FIT H ARG & S| 3

Draw a labelled diagram of the longitudinal section of a flower.

29. FSA % WM | %Y T T & 6 AR JEOT W 9 G P e o 3

How do Mendel's experiments show that traits are inherited independently ?

STeE
OR

M, 8L ST ar QY 1 HHT PR G AT a qY | FHREAT T

Plant with round, green seeds was crossed with wrinkled, yellow seeds plant :
(a) oW Hafd § ST @ SRy 9 T HEw BN 2

What will be the shape and colour of seeds in F; generation ?

2107/(Set : A) P.T.O.
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(b) EHIOT A I 1

Show the crossing with diagram.

30. (a) AU Q9T U fasHO gor § o ofd] ® 7 2

What are the differences between autotrophic nutrition and heterotrophic

nutrition ?

(b) HFE U o H R SR 3

Draw the labelled diagram of human digestive system.

3TeE
OR

(2) TR ARG H oA 1 GH Bl 8 7 2

What is the role of the acid in our stomach ?

(b) it o & e | IF H TS & 999 S| B M G| 3

Show the movement of water during transpiration in a tree with the help of

a labelled diagram.

2107/(Set : A)
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(2) 2107/(Set : B)
o FUCGRTHE % SaRFT FF o e TE A T SagHEAEr & g Y frar Faw T
PIC
Except answer-book, no extra sheet will be given. Write to the point and do not strike
the written answer.
o GHHE STy U To FJeT-UH T Saed i@ U To & GHANFT JeT-TH YT 3T 8 H T
g oiit dious 7o & IR 9T b T @ AT T
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write anything on question paper and don't make any mark on answers of objective
type questions.
o FUT F¥T & FuY 7 @ g7 98 G &Y T [ J97-97 g9 q Tel 8 qer % ST 5
T F g 4 qar whwre T8 A aam
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G (7397 -
General Instructions :

() @4 geT Sfard &

All questions are compulsory.
(i) TeGTeE JoT & qE [T g

Write the correct option in objective type questions.
(iii) T FoT F ofIaNG [AHT T JTET 81

Internal choice has been provided in some questions.

(v) &% F97 B oIF 3GH G790 77 8

Marks of each question are indicated against it.
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(3) 2107/(Set : B)
gos — 3
SECTION - A
(Merp fomirr)
(PHYSICS)
1. g & -8 Y 98 S § 7 1

Which gas is filled in electric bulbs ?

2. frfefed a7 & @ %o ¥ : et (A) ol &R (R), 999 & F=9 R T Sugw faeed

B T HQ GL I AT 1
SRR (A) : A I F AT Bihd GolE Bl THREING B AUedl W WL &Y 9 HHT
HA Bl GHAT B B

HROT (R): 39 e Hl GUEINH & ] & &9 § I A &l
(A) (A) 3R (R) 3 9 & q&1 (R), (A) ¥ T& == B

(B) (A) AR (R) I~ 9 &, AT (R), (A) P T& IR T B
(C) (A) T B, QAPT (R) TTH B
(D) (A) 79 ¥, Al (R) T B

The question below consists of two statements : Assertion (A) and Reason (R),
answer the question by selecting the appropriate option given below :

Assertion (A) : The eyelens has the ability to focus clearly on the retina by
adjusting its focal length.

Reason (R) : This phenomenon is known as power of accommodation.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.
2107/(Set : B) P.T.O.



(4) 2107/(Set : B)
3. RpEl U @ o9 AR Feall @ g0 W @S &, A Sidfe "eg der @ did g B

GHed: g ® ’
(A) Fad TIIA (B) Bdd STaad
(C) Haq 3ad (D) a1 gHad STgdr 399

No matter how far you stand from a mirror, your image appears erect. The

mirror is likely to be :
(A) only plane (B) only concave

(C) only convex (D) either plane or convex

4. frdl RET 9 &1 oTgAdis 220 V @& 100 W &1 9@ 6 110 V W JEIA & &, a9

T% ENT IUYE ik feert il & ¢ 1
(A) 100 W (B) 75W
(C) 50W (D) 25W

An electric bulb is rated 220 V and 100 W. When it is operated on 110 V, the

power consumed will be :

(A) 100 W (B) 75W
(C) 50W (D) 25 W
5 e T T BIeT T B 1

............. is the small unit of electric power.

6. T FHivA & 78 T -Tel [eHleAN ? 2

Explain why planets do not twinkle ?

2107/(Set : B)
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7. T =® & g 6 dRE W FER Ear @ ? 2
On what factors does the resistance of a conductor depends ?
8. (a) foth 83 ga% & Il oY gabig & YE difey 3

Draw magnetic field lines around a bar magnet.

(b) o o YwE & B @ T R

Write any two properties of magnetic field lines.

9. M & g I TR HIST g HN SI AE=H azdl N9 & 9 & AJaR &= & 4
qf H FE qHHT T 3

(A) R=V/I (B) R=1/V

Define Ohm's law. State SI unit of resistance. Select the correct equation of
resistance in accordance to Ohm's law from below options :

(A) R=V/I B) R=I/V
10. (a) [5Gl d9 & 1 SEACI A Bl TR i 2
Define 1 dioptre of power of a Lens.
(b) 2 m BIHE T A HFeTT G Dl & S i 1
Find the power of a concave lens of focal length 2 m.
(¢) = 9 ford - 2

Write the following formulas :
@) oF g

Lens formula
(i) &Y G

Mirror formula

2107/(Set : B) P.T.O.



(6) 2107/(Set : B)
rgar

OR
(2) OFdE SUOT & H& BihH i GRE frfm 2

Define the principal focus of a concave mirror.
(b) TG U7 H A ST S 6T T T G AT Ffed T b 1
Name a mirror that can give an erect and enlarged image of an object.
() BW awml § Iaq UV Pl U9F-39F qUOT & @9 H qAA | ad § ? 2
Why do we prefer a convex mirror as a rear-view mirror in vehicles ?
gle - §
SECTION - B
(e o)
(CHEMISTRY)

11. STEG ANER B TS 3o F41 oiar & 7 1

Why do ionic compounds have high melting points ?

12. Frfoiad 97 & @ HoF § ¢ A (A) 3 BT (R), 999 & A9 R T Iuga e
H T B gL IAL AT 1

TR (A) : BART IS BRFITAND ST I~ Bl &l
HROT (R) : SSRGS T QI [Ieqd @l Hiel Y adl ol
(A) (A) X (R) I & & T (R), (A) F T& AR &
(B) (A) 3R (R) I 97 &, qAfdT (R), (A) F T v T2t 2l
(C) (A) T ®, AfFT (R) o1& Bl
(D) (A) 3THHE B, WAlEA (R) T ol

2107/(Set : B)




(7) 2107/(Set : B)
The question below consists of two statements : Assertion (A) and Reason (R),

answer the question by selecting the appropriate option given below :
Assertion (A) : Our stomach produces hydrochloric acid.

Reason (R) : Hydrochloric acid turns red litmus blue.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

13. @8 o W Y SEGHAINRE ST S & &1 Bl & ¢ @& Sk &l gy : 1
(A) BEZOH T T HAE FAES Sl &l

(B) TN T TG MR eRgiEe vl &l
(C) g orafeam FE B

(D) STERA @9 g S &9 ol

What happens when dilute hydrochloric acid is added to iron filling ? Choose the
correct answer :

(A) Hydrogen gas and iron chloride are produced.

(B) Chlorine gas and iron hydroxide are produced.

(C) No reaction takes place.

(D) Iron salt and water are produced.

2107/(Set : B) P.T.O.
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14. THEHH H Ube d Fb@ & I gpawiiaar § F9M &g o9 &1 3UE H4T 7 1
(A) Ui iR e (B) EgioM I WA
(C) argAE & § & (D) SUFd g«

What measures will you take to prevent the 'Namkeen' from getting rancid after
removing it from the packet ?

(A) Add anti-oxidant
(B) Fill Nitrogen gas
(C) Store in an air-tight container

(D) All of the above

16. s o1 1 VARG G AR I6H & ST fordl 2

Write the chemical formula and two uses of bleaching powder.

YqT

OR

(2) S & TgURAT F oF, TR FIER I el @ ¢ 1
Why do acids not show acidic behaviour in the absence of water ?
(b) SETHIMIHTT ARRAT &1 & 7 T S At 1

What is neutralization reaction ? Give an example.

2107/(Set : B)
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YT

OR
T SITERT F97 -

Competency Based Question :

Al B PO The [Gaad d T SABRA § Fe + CuSO, — Cu+ FeSO, , & & 5d ¥

PIT-41 [Iohed SfiiPpd X STIARE IS B §ef & § a9l © 7 2
forere e Sifedigd ©r S
A Fe Fe
B Fe FeSO,
C Cu Fe
D CuSO, Fe

In the reaction of Iron with Copper Sulphate solution (CuSOy) :
Fe +CuSO4 — Cu+ FeSOy4

Which option in the given table correctly represent the substance oxidized and
reducing agent ?

Option Substance Oxidized | Substance Reduced
A Fe Fe
B Fe FeSO4
C Cu Fe
D CuSO,4 Fe
17. GASH SRR @ T 1 GEE & ¢ THRMEG FHIBT |ied g% JaTeXe Al 2
What is combination reaction ? Give one example with chemical equation.
18. AifeT, SffeicH @ AR & Y sadg g d@emT farau 3

Write electron dot structure for sodium, oxygen and magnesium.
2107/(Set : B) P.T.O.
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TEEE OEE & R W A T FEge § His di7 HAR Il 3

Write any three differences between metals and non-metals on the basis of their

chemical properties.

19. = AR % 18 Ted Tsa-THIntYT [T qo S6s a6 i 6 fofee, i ;3

Write word equations and then balanced equations for the reaction taking place,

when :

(a) TJ THINE AT AMER & & ao ARRR F &l

Dilute sulphuric acid reacts with zinc granules.

(b) Y CTRGEIND TR HIRE Ugel & arY SATHBRAT BT ol

Dilute hydrochloric acid reacts with magnesium ribbon.

(c) G eEgERING o1 A8 & a9 & A1 ATHBRAT B ol

Dilute hydrochloric acid reacts with iron fillings.

20. (a) BESTHIHCT F1 8 ? TR SN T[T F1 8 ? 2
What is hydrogenation ? What is its industrial application ?
(b) |G I TS FehdT Bl BHATA Tl 3

Explain the mechanism of the cleaning action of soaps.

2107/(Set : B)
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Srgar

OR
(2) FET & A YOTEH DE-9 &, PBFH BROT SAR IR SR HEA Al Hl AT de&
|G 2

What are the two properties of carbon which lead to the huge number of
carbon compounds we see around us ?

(b) A T THRME OTEH $ ER W A T TAAIEH O § ST & SRR H4T ? 3

How can ethanol and ethanoic acid be differentiated on the basis of their
physical and chemical properties ?

Tar
OR
JITeT STEIRT F97 -

Competency Based Question :

T2 & 7 difee 99 @ R ™ g% et @

Y e o
1. A "A" B ATH B9 A @R H UREE & ®9 H IWT fpAT S B
2. "A" TSI & W STERAT HY Wiol WY At A "B ST 8
SUFT Hhell & MER W 7 Uil & I IR
(i) AR "A" qE AR "B B wE=H 1
(i) & fE "A" AR AE B oAy AAEHA B B, A DE-G W @S eEn 7
TR FHIHT o 2
(ili) T F & SwEn R 2

2107/(Set : B) P.T.O.
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The table given below shows the hints given by source :

Sr. No. Hints
1. Compound "A" is widely used as preservative in pickles.
2. "A" reacts with Ethanol to form a sweet smelling compound "B".

Based on the above hints answer the following questions :

(i) Identify the compound "A" and compound "B".

(i) Which gas is produced when compound "A" reacts with washing soda ?
Write chemical equation.

(iii) Write two uses of Ethanol.

qles - 9
SECTION-C
(cftr fortrr)
(LIFE SCIENCE)

21. HE-I T FH EE 0 B 10 TASH 3 STETHar ekl & 7 1

Which gland requires iodine to produce hormones ?

22. frfefed a7 & @ %o ¥ : aifted (A) olR #R1 (R), 999 & 9= R T Swgw faeew

H T B gL IAL AT 1
AR (A) : URY § d H gha B RO SME B &l

B (R) :

RreRfeM @ TRy 2N &, St a1 @ ghe § TeE &l

(A) (A) ¥R (R) I & & T (R), (A) H T& FEA 2

(B) (A) 3R (R) I 6 &, Al (R), (A) H Tel WA T&i 2l
(C) (A) 9F &, AfFT (R) 39 Bl

(D) (A) 3TFH T, AlBA (R) TA Bl

2107/(Set : B)
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The question below consists of two statements : Assertion (A) and Reason (R),
answer the question by selecting the appropriate option given below :

Assertion (A) : Hormones are responsible for the growth of stem in plants.
Reason (R) : Gibberelin is a plant hormone which helps in stem growth.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

23. 1 ¥ § B9 AFg § X S GF H 9T § 7 1
(A) SfeE (B) T
(C) haTieH (D) (Esanfest

Which of the following is a part of the male reproductive system in human

beings ?
(A) Ovary (B) Uterus
(C) Vas Deferens (D) Fallopian tube
24. F=1 8§ | FF @R B 78 e ? 1
(A)  HFTT H [ABH
(B) THSI FH U
(€C) T
(D) SR &t

2107/(Set : B) P.T.O.



25.

26.

27.

28.

(14) 2107/(Set :

Which of the following is not environment friendly ?
(A) Paper bag

(B) Wooden stick

(C) Balloon

(D) All of the above

FARGARHE (CFC) T TR oo A H THAM Tga o

Chemicals like CFC harms the ............... layer.

PRI Td e W i T i o 7

What is the role of the seminal vesicles and the prostate gland ?

gfcrercht feam & ARaes @& @@ qivE § 7

What is the role of brain in reflex action ?

3TeE
OR

B Uh SRS @l T H gaT by o ?

How do we detect the smell of an agarbatti ?

Hed & SART | He G ol o b AR @l E|as 89§ G eld § 7

How do Mendel's experiments show that traits are inherited independently ?

2107/(Set : B)
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OR

M, &Y Ao A N H FheoT FhaR Tt i a qY | HA /-

Plant with round, green seeds was crossed with wrinkled, yellow seeds plant :

(a) oW Hafd § ST @ SRy 9 T HEw BN 2
What will be the shape and colour of seeds in Fi1 generation ?

(b) GO | QM| 1

Show the crossing with diagram.

29. I & AJeH FIC H AHRA & T 3

Draw a labelled diagram of the longitudinal section of a flower.

30. (a) AR AMRE ¥ =T % FT GHH Bl © 2

What is the role of the acid in our stomach ?

(b) it o & T | 3F H TS & 999 S| B M S| 3

Show the movement of water during transpiration in a tree with the help of

a labelled diagram.

2107/(Set : B) P.T.O.



(16) 2107/(Set : B)

() TEINS DT TG frsEat Qe § o ofc} © 7 2

What are the differences between autotrophic nutrition and heterotrophic

nutrition ?

(b) HME UEA GF B O IR 3

Draw the labelled diagram of human digestive system.

2107/(Set : B)
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o FUCGRTHE % SaRFT FF o e TE A T SagHEAEr & g Y frar Faw T
PIC
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G (7397 -
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() @4 geT Sfard &

All questions are compulsory.
(i) TeGTeE JoT & qE [T g

Write the correct option in objective type questions.
(iii) T FoT F ofIaNG [AHT T JTET 81

Internal choice has been provided in some questions.

(v) &% F97 B oIF 3GH G790 77 8
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gug — 3

SECTION - A
(Mo foer)

(PHYSICS)

1o oo, T T BIeT T B 1

............. is the small unit of electric power.

2. g § HE-A 9 99 ARG R ? 1

Which gas is filled in electric bulbs ?

3. fFfafad ot & @ %o B : o (A) R SR (R), 999 & AR RY W Suge faweq

P T HQ GU I AT 1
IR (A): AT TH H ST Bihd qdlE P THREIN Hh AT W WE GY q BiHd
T I &AAT Bl o

HROT (R): 39 e P GHEN $ A & ©9 § FJ1 Sl 2
(A) (A) X (R) I 69 € T (R), (A) I TEl AR B

(B) (A) 3R (R) 3! 9 &, AT (R), (A) P T8 IR & 2B
(C) (A) & B, AlBT (R) 3THA &l

(D) (A) 3THA &, AlBT (R) €A &

2107/(Set : C) P.T.O.
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The question below consists of two statements : Assertion (A) and Reason (R),

answer the question by selecting the appropriate option given below :

Assertion (A) : The eyelens has the ability to focus clearly on the retina by

adjusting its focal length.

Reason (R) : This phenomenon is known as power of accommodation.
(A) Both (A) and (R) are true and (R) is the correct explanation of (4).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

4. e o1 § o AR Rl & g0 W @ B, N Nidied ded dier & i e ol

FTWIECTUT%: 1
(A) Fad TIIA (B) Bdd STaad
(C) Haq Iad (D) a1 gHad STgdr 399

No matter how far you stand from a mirror, your image appears erect. The

mirror is likely to be :
(A) only plane (B) only concave

(C) only convex (D) either plane or convex

2107/(Set : C)



(5) 2107/(Set : C)
5. freh fE@ o9 & oTgAdi 220 V &1 100 W 21 5§ 3§ 110 V T SEIerd & 8, a9

5% ER1 IUYE M fehert il © ° 1
(A) 100 W B) 75W
(C) 50W D) 25W

An electric bulb is rated 220 V and 100 W. When it is operated on 110 V, the
power consumed will be :

(A) 100 W (B) 75W
(C) SO0W (D) 25W
6. f5dl ams & gfad T He W AR war & 7 2

On what factors does the resistance of a conductor depends ?

7. fEr ofafer-am & SRl HiA @ STV HIAT 4 SO &lr 8 ° 2

Why does the sky appear dark instead of blue to an astronaut ?

8. oW & e I RWIG Hify gfeie &1 SI A= SaRdl 9 & g & ogar =1 § |
qiee H FE FHIBLT g 3
(A) R=V/I (B) R=1/V

Define Ohm's law. State SI unit of resistance. Select the correct equation of

resistance in accordance to Ohm's law from below options :

(A) R=V/I (B) R=1/V

9. (a) el BT g% & aRI oY Fabig & Y@ Wity 3

Draw magnetic field lines around a bar magnet.

(b) o o XwE & B @ T R

Write any two properties of magnetic field lines.

2107/(Set : C) P.T.O.



10. (a)

(b)

(©

()

(b)

(©

(6) 2107/(Set
AT TYOT & Y& HiHd &l R g

Define the principal focus of a concave mirror.

39 U F AW SRy SN f&g Hw der g eata sfafds a9 91

Name a mirror that can give an erect and enlarged image of an object.

B9 el § IOd UOT Hl U9E-399 SO & ©9 H§ qaar ;i ad o 7

Why do we prefer a convex mirror as a rear-view mirror in vehicles ?

YqT
OR

el oI 1 1 STERIeY &HaT &l URHING it

Define 1 dioptre of power of a Lens.

2 m BIFHH G0 dl e o ST S i
Find the power of a concave lens of focal length 2 m.
i isElNicEE
Write the following formulas :
@) oF g
Lens formula
(i) T g

Mirror formula

2107/(Set : C)
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ge - §

SECTION - B
(vamE fast)

(CHEMISTRY)

11 o, 99 oA SEae o1g S| 1

............ is the most malleable metal.

12. STEH AR B TS 3o F41 8iar & 7 1

Why do ionic compounds have high melting points ?

13. frfefead us7 & @ #o ¥ : ot (A) o &R (R), 999 & 9 R W Swgw faeed
P T HQ U I AT 1

AHYT (A) : BRI I BRSIRAINE 3T a1 Bl &l

HROT (R) :  ESRSIKIRSD T QI [Ieqd @l Hiel Y adl ol
A) (A) SR (R) 3! 99 @ (R), (A) % T e B

(B) (A) 39X (R) 3! 9 &, AT (R), (A) P T8 /e & 2B
(C) (A) & B, AlBT (R) 3THA &l

(D) (A) T9F 8, AfhT (R) T 2|

2107/(Set : C) P.T.O.
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The question below consists of two statements : Assertion (A) and Reason (R),
answer the question by selecting the appropriate option given below :

Assertion (A) : Our stomach produces hydrochloric acid.

Reason (R) : Hydrochloric acid turns red litmus blue.

(A) Both (A) and (R) are true and (R) is the correct explanation of (4).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

14. W8 o W Y SEGHAINRE ST S & &1 Bl & ¢ @& 9% &l gy : 1
(A) TRV N9 T4 SRR FIES a9 Bl
(B) FNAA I TG TR TEEIFIEE a9l 2

(C) e STffeam wT&l &
(D) STERT @9 9 S S+l &l

What happens when dilute hydrochloric acid is added to iron filling ? Choose the
correct answer :

(A) Hydrogen gas and iron chloride are produced.

(B) Chlorine gas and iron hydroxide are produced.

(C) No reaction takes place.

(D) Iron salt and water are produced.

2107/(Set : C)
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15. THEHM H Ube d Mo & I gpawiiaar § F9M &g o9 &1 IUE ST 7 1
(A) Ui iR e (B) EgioM I WA
(C) argAE & § & (D) SUFd g«

What measures will you take to prevent the 'Namkeen' from getting rancid after
removing it from the packet ?

(A) Add anti-oxidant
(B) Fill Nitrogen gas
(C) Store in an air-tight container

(D) All of the above

16. AW eifihar & o 1 g9z & ? TOENe gHie aftd T Sasier i 2

What is decomposition reaction ? Give an example with chemical equation.

17. RS 900 & VAR G AR 36S & ST fordl 2

Write the chemical formula and two uses of bleaching powder.

AYAT
OR
(a) T & STURACT H T, oT<IT FFeR Fi el @ & ? 1
Why do acids not show acidic behaviour in the absence of water ?
(b) SETHIMIHIT ARRAT &1 & 7 T S At 1

What is neutralization reaction ? Give an example.

2107/(Set : C) P.T.O.
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T STEIRT F97 -

Competency Based Question :

18.

Ale Hl B Tehe [qaae & g SAHBRA § Fe + CuSO,4 — Cu + FeSO, , & & 39q #

BI-A1 faeheq ffRdidpd X STU=E® Ui ®l @& & | a9l © 7 2
forere @ Sifedigd ©r S
A Fe Fe
B Fe FeSO4
C Cu Fe
D CuSOq4 Fe

In the reaction of Iron with Copper Sulphate solution (CuSOy) :
Fe +CuSO4 — Cu+ FeSOy4

Which option in the given table correctly represent the substance oxidized and
reducing agent ?

Option Substance Oxidized | Substance Reduced
A Fe Fe
B Fe FeSO4
C Cu Fe
D CuSOy4 Fe

=T rffehar & ford v sTss-aeieReT e qen Sas 9% Ggfe qee e, 99 3

Write word equations and then balanced equations for the reaction taking place,
when :

(a) TJ THINE AT AMER & & aY AR H &l

Dilute sulphuric acid reacts with zinc granules.

(b) T SIEGIEING o SWIREH Ueedl & ey STHbRar Hear B

Dilute hydrochloric acid reacts with magnesium ribbon.

2107/(Set : C)
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(c) T eEgERING o1 A8 & a9 & A1 ATHBRAT BT ol
Dilute hydrochloric acid reacts with iron fillings.
19. difead, SAfRioM T TR & 8 g fig d@em i 3
Write electron dot structure for sodium, oxygen and magnesium.
AYAT
OR
TS OEH & AR G Gl Td el § Hlg df7 e} qaEd 3

Write any three differences between metals and non-metals on the basis of their

chemical properties.

20. (a)

(b)

()

(b)

PEA & A [TEHH HA-9 2, BES BROT AR AR SR FEA AR B e e
femrg 3@ & ? 2

What are the two properties of carbon which lead to the huge number of
carbon compounds we see around us ?

A T TEERS T & STER W T 0F GRESs o | o »d SiaX 3T ¢ 3

How can ethanol and ethanoic acid be differentiated on the basis of their
physical and chemical properties ?

YqT
OR

BRGISHIEHIT &1 & ? SEE s TN 1 & 7 2

What is hydrogenation ? What is its industrial application ?

YA B GwE Uikar @ Prarafy awemEd 3

Explain the mechanism of the cleaning action of soaps.

2107/(Set : C) P.T.O.
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T STEIRT F97 -

Competency Based Question :

T2 & 7 difee 99 @ R ™ g% st ©

9 GEAT Gebdl
1. ARE "A" H A% B F =R F R $ w4 H SuEN R S B
2. "A" USRI % AR SARHBRAT FX ISl g are AR "B &I B
ST el b AR W 7 g9 & I T
() A "A" Fo1 ARE "B" H gE=H| 1
(i) o« qfE "A" AR HE oAy ANEEA B B, A PE-G W @ en 7
A qHH gl 2
(i) N @ @ IwEW 2
The table given below shows the hints given by source :
Sr. No. Hints
1. Compound "A" is widely used as preservative in pickles.
2. "A" reacts with Ethanol to form a sweet smelling compound "B".

Based on the above hints answer the following questions :
(i) Identify the compound "A" and compound "B".

(i) Which gas is produced when compound "A" reacts with washing soda ?
Write chemical equation.

(iii) Write two uses of Ethanol.

2107/(Set : C)
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ge -9

SECTION - C
(S fomm)

(LIFE SCIENCE)

-

21. FAGN

{HET (CFC) S8 TR oo A H THAE TG ol 1

Chemicals like CFC harms the ............... layer.

22. HE-GI T FH EE W B 10 TASH @ STEaTHar el & 7 1

Which gland requires iodine to produce hormones ?

23. fFrffed g7 # & F&F § : AEI (A) IR HROT (R), 999 & -9 R T Iugs feeq
H T B gL IAL AT 1

ARFYE (A) : URY § d & ghs B RO SME B &l
RO (R):  PTeRieM T IRY WA &, St a9 &l gha § &8s ol

(A) (A) X (R) 3! 69 € T (R), (A) I T&l AR B
(B) (A) AR (R) I~ a7 &, A7 (R), (A) P T& IR T B
(C) (A) T ®, AfFT (R) o1& Bl

(D) (A) 79 ¥, Al (R) 9 B
2107/(Set : C) P.T.O.
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The question below consists of two statements : Assertion (A) and Reason (R),

answer the question by selecting the appropriate option given below :
Assertion (A) : Hormones are responsible for the growth of stem in plants.

Reason (R) : Gibberelin is a plant hormone which helps in stem growth.
(A) Both (A) and (R) are true and (R) is the correct explanation of (4).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

24. 771 & § B9 9Wa § X 9T I B AR 8 ° 1
(A) SfeE (B) T
(C) ehaTieH (D) fEsafet

Which of the following is a part of the male reproductive system in human

beings ?
(A) Ovary (B) Uterus
(C) Vas Deferens (D) Fallopian tube
25. /= § & & iR e 7@ e ? 1
(A) I & AHE
(B) B! Bl U
(C) TemT
(D) ST gt

2107/(Set : C)



26.

27.

28.

29.

2107/(Set : C)

(15) 2107/(Set : C)
Which of the following is not environment friendly ?
(A) Paper bag (B) Wooden stick
(C) Balloon (D) All of the above
gferardit fhar & wRash @ = G & 7 2
What is the role of brain in reflex action ?

HAYAT

OR
B U SRE! &l T B Gl Y I ? 2
How do we detect the smell of an agarbatti ?
PRI Ud MReT I @ e © 7 2
What is the role of the seminal vesicles and the prostate gland ?
g9 H A BT H THR &5 T 3
Draw a labelled diagram of the longitudinal section of a flower.
Hed & TN @ HY GO =@ & % AR T @ &9 9 derg e § 7 3
How do Mendel's experiments show that traits are inherited independently ?

AYAT

OR
M, B &S ard Ay H FHOT FAeR T @i ard A § FHEAT T
Plant with round, green seeds was crossed with wrinkled, yellow seeds plant :
(a) oW Hafd § ST @ SRy 9 T HEw BN 2

What will be the shape and colour of seeds in F1 generation ?
P.T.O.



(b)

30. (a)

(b)

()

(b)

(16) 2107/(Set : C)
GOl HieH IR0 1

Show the crossing with diagram.

U quor T fawAdd dreer F o) © ? 2
What are the differences between autotrophic nutrition and heterotrophic
nutrition ?

qNE UeF O3 & = S| 3

Draw the labelled diagram of human digestive system.

3TeE
OR

BAR AT | =T R G Bl § 7 2

What is the role of the acid in our stomach ?

i F @ e | gF § ardisd & 999 ST @ T asnsd 3

Show the movement of water during transpiration in a tree with the help of

a labelled diagram.

2107/(Set : C)
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77 : 3 g2 [ §% : 60

Time allowed : 3 hours | [ Maximum Marks : 60

o PV T B A [ 59 99794 § AT 7T 16 9T F97 30 &

Please make sure that the printed pages in this question paper are 16 in number

and it contains 30 questions.
o F97-7F 7 qIET & # G 77 T4 Fe T 7Ol G2 F 5H TA-YRaH F JEI-TF G [

The Code No. and Set on the right side of the question paper should be written by

the candidate on the front page of the answer-book.
o Y[ FI7 [ TV [TGT @ FC7 @ B, JIT H HHIH 79T [i@

Before beginning to answer a question, its Serial Number must be written.
o FUC-YikiHE % & 7 Gl T/9 T SIS

Don’t leave blank page/pages in your answer-book.
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o FUCGRTHE % SaRFT FF o e TE A T SagHEAEr & g Y frar Faw T
PIC
Except answer-book, no extra sheet will be given. Write to the point and do not strike
the written answer.
o GHHE STy U To FJeT-UH T Saed i@ U To & GHANFT JeT-TH YT 3T 8 H T
g oiit dious 7o & IR 9T b T @ AT T
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o FUT F¥T & FuY 7 @ g7 98 G &Y T [ J97-97 g9 q Tel 8 qer % ST 5
T F g 4 qar whwre T8 A aam
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G (7397 -
General Instructions :

() @4 geT Sfard &

All questions are compulsory.
(i) TeGTeE JoT & qE [T g

Write the correct option in objective type questions.
(iii) T FoT F ofIaNG [AHT T JTET 81

Internal choice has been provided in some questions.

(v) &% F97 B oIF 3GH G790 77 8

Marks of each question are indicated against it.
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qus - A
SECTION - A
(fftrs )

(PHYSICS)

1. f6E foR[a a9 &1 oTAdi® 220 V @1 100 W B 519 8 110 V T F=Iferd & &, ad
T% ENT JUYE ik fehert el & ° 1
(A) 100 W (B) 75W
(C) 50 W D) 25W

An electric bulb is rated 220 V and 100 W. When it is operated on 110 V, the
power consumed will be :

(A) 100 W (B) 75W
(C) 50W (D) 25W
2 i, TR T BIeT T B 1

............. is the small unit of electric power.

3. g H PHF-9 W T4 S 2 ? 1
Which gas is filled in electric bulbs ?

4. ffafad usT & @ %o B : o (A) R SR (R), 999 & AR RY W Suge fawed

P T HQ GL I AT 1
AR (A) : T I F AT Bihd TolE Bl THEING B Al W WL &Y 9 HHT
H Bl SHAT B B

HROT (R): 36 e %l GUEINN & AT & &9 F 1 I 2|
(A) (A) 3R (R) 3 9 & q&1 (R), (A) ¥ T& == B
(B) (A) 8RR (R) It 9 &, AT (R), (A) P T8 IR T&f 2B
(C) (A) 7 B, AP (R) A 2
(D) (A) TFH &, ARG (R) T ol
2107/(Set : D) P.T.O.
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The question below consists of two statements : Assertion (A) and Reason (R),
answer the question by selecting the appropriate option given below :

Assertion (A) : The eyelens has the ability to focus clearly on the retina by
adjusting its focal length.

Reason (R) : This phenomenon is known as power of accommodation.
(A) Both (A) and (R) are true and (R) is the correct explanation of (4).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

5. el zdor @ o9 = fh & g0 W we &, o ufiise |ed dien & il i g

GHed: v ® ¢ ]
(A) Fad THIA (B) dd STaad
(C) Haq 3ad (D) a1 gHad STedr 399

No matter how far you stand from a mirror, your image appears erect. The
mirror is likely to be :

(A) only plane (B) only concave

(C) only convex (D) either plane or convex

6. [l ofafer—aE & TR S i STV HIaT 4 S &l 8 ? 2

Why does the sky appear dark instead of blue to an astronaut ?

7. fagie, ag@st @ g TR T & 7 2

How is binary fission different from multiple fission ?

8. (a) [l 83 g9 & IR R Jaarw & W@ i 3
Draw magnetic field lines around a bar magnet.
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(b) JuHr & Y@l & B & o fim

Write any two properties of magnetic field lines.

9. W & e ® RN iy Jfeke &1 SI 7= JaRdl F & a9 & ogar =1 & |
qiee 1 FE FHIBT A 3

(A) R=V/I (B) R=1/V

Define Ohm's law. State SI unit of resistance. Select the correct equation of

resistance in accordance to Ohm's law from below options :

(A) R=V/I (B) R=1/V

10. (a) [5Gl I9 & 1 SEACI AW Bl TR i 2

Define 1 dioptre of power of a Lens.

(b) 2 m BIhd T AN T G Bl & S i 1
Find the power of a concave lens of focal length 2 m.
(¢ = BSEl ford - 2
Write the following formulas :
(i) "
Lens formula
(i) &9 G
Mirror formula

2107/(Set : D) P.T.O.
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AYAT
OR
(2) OFdT IUOT & H& BihH i GREm frfm 2
Define the principal focus of a concave mirror.
(b) TG T H A TR S 6T P T G AT Ffed T b 1
Name a mirror that can give an erect and enlarged image of an object.
() oH a’dl ¥ Iaa qUYT H UH-399 U $ @9 H JOuar 4 ad & 7 2
Why do we prefer a convex mirror as a rear-view mirror in vehicles ?
gle - §
SECTION - B
(e o)
(CHEMISTRY)
11. TN & Ybe d AR & IUIG giiek 8 S9M &g o9 &1 3 ST ? 1
(A) 9T SiferdieR® B
(B) EgoM | A
(C) argE & § &
(D) IUUET Tt

What measures will you take to prevent the 'Namkeen' from getting rancid after
removing it from the packet ?

(A) Add anti-oxidant
(B) Fill Nitrogen gas
(C) Store in an air-tight container

(D) All of the above
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12, .. 9 Al sTEEe g 2 1

13. ST AR B TS I F41 el & 7 1

Why do ionic compounds have high melting points ?

14. f=fafad gs9 & @ %o 2 : i@ (A) 8iR $ROT (R), 99 & 99 [ T Iuga fasked
H T BT gL IAL AT 1

B (A) : BERT I BRSRIINE 3T S+ Bl &l

HROT (R) :  ESRSIGKIRSD T @I [Ieqd @l Hiel Y adl ol
(A) (A) X (R) I & & T (R), (A) F T& AR &

(B) (A) X (R) I & §, ABA (R), (A) &I Tl AR Tel &l
(C) (A) 7 B, AfFT (R) 3T9A 2
(D) (A) 3T9F 8, Al (R) T 2|
The question below consists of two statements : Assertion (A) and Reason (R),
answer the question by selecting the appropriate option given below :
Assertion (A) : Our stomach produces hydrochloric acid.
Reason (R) : Hydrochloric acid turns red litmus blue.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.
2107/(Set : D) P.T.O.
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15. @8 o W Y SEGEIRE o= S § &1 Bl & ¢ @& S &l gy ¢ 1

(A) RSN T Td PR FANES a9 B
(B) TN I TG SR TEEIFIREE a9l 2
(C) g orafeam FE B

(D) TR @GO g SIS 2

What happens when dilute hydrochloric acid is added to iron filling ? Choose the

correct answer :

(A) Hydrogen gas and iron chloride are produced.
(B) Chlorine gas and iron hydroxide are produced.
(C) No reaction takes place.

(D) Iron salt and water are produced.

16. s o0 1 TEEEG G AR I6H & ST fordl 2

Write the chemical formula and two uses of bleaching powder.

HAYAT
OR
(2) S & TgURAT F oF, TR FIER I el @ ¢ 1
Why do acids not show acidic behaviour in the absence of water ?

(b) SETEIEIT STFRRT T & 7 T Sareiel iR 1

What is neutralization reaction ? Give an example.
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ST

OR
T STEIRT F97 -

Competency Based Question :

Ale Hl B Tehe [qaae & g SAHBRA § Fe + CuSO,4 — Cu + FeSO, , & & 39q #

BI-A1 faeheq ffRdidpd X STU=E® Ui ®l @& & | a9l © 7 2
forere @ Sifedigd ©r S
A Fe Fe
B Fe FeSO4
C Cu Fe
D CuSOq4 Fe

In the reaction of Iron with Copper Sulphate solution (CuSOy,) :
Fe +CuSO4 — Cu+ FeSOy4

Which option in the given table correctly represent the substance oxidized and
reducing agent ?

Option Substance Oxidized | Substance Reduced
A Fe Fe
B Fe F GSO4
C Cu Fe
D CuSO,4 Fe
17. GASH SRR @ T @1 GEE & ¢ THRMEG FHIHT |ied g% a0 Al 2
What is combination reaction ? Give one example with chemical equation.
18. difeg, Sl T TR & 8 g fog w@em i 3

Write electron dot structure for sodium, oxygen and magnesium.
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TEEE OEE & R W A T FEge § His di7 HAR Il 3

Write any three differences between metals and non-metals on the basis of their

chemical properties.

19. = AR % 18 Ted Tsa-THIntYT [T qo S6s a6 i 6 fofee, i ;3

Write word equations and then balanced equations for the reaction taking place,

when :

(a) TJ THINE AT AMER & & ao ARRR F &l

Dilute sulphuric acid reacts with zinc granules.

(b) Y CTRGEIND TR HIRE Ugel & arY SATHBRAT BT ol

Dilute hydrochloric acid reacts with magnesium ribbon.

(c) G eEgERING o1 A8 & a9 & A1 ATHBRAT B ol

Dilute hydrochloric acid reacts with iron fillings.

20. (a) BESTHIHCT F1 S ? TR SN T[T F1 8 ? 2
What is hydrogenation ? What is its industrial application ?
(b) HIgT B GEE GkAT A Rl qHEmEd) 3

Explain the mechanism of the cleaning action of soaps.
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e
OR
(@) HET F A M HA-G §, b HRO AR AR AR Pl AR B e e
feerg &t B ? 2

What are the two properties of carbon which lead to the huge number of
carbon compounds we see around us ?

(b) AP T TR O F TER W A T TAAIEH O § ST dd SRR H4T ? 3

How can ethanol and ethanoic acid be differentiated on the basis of their
physical and chemical properties ?

3TeE
OR

T STEIRT F97 -

Competency Based Question :

T2 & 7 difee 99 @ R ™ g% et @

Y e e
1. A "A" BT ATH €9 A ER H UREE & €9 § IWT fpA1 I B
2. "A" TSR & W STERAT HY Wiel WY At A "B ST 8
SUFT Hhell & MER W 7 gl & I I -
(i) A A" T ANE "B B GEEM 1
(i) o« e "A" Gl dwr d oary Ifukhw #Xar B, @ dN-E W Sme en ?
THES GHIBT o] 2
(iil) AT & & ITENT fored| 2
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The table given below shows the hints given by source :

Sr. No. Hints
1. Compound "A" is widely used as preservative in pickles.
2. "A" reacts with Ethanol to form a sweet smelling compound "B".

Based on the above hints answer the following questions :
(i) Identify the compound "A" and compound "B".

(i) Which gas is produced when compound "A" reacts with washing soda ?
Write chemical equation.

(iii) Write two uses of Ethanol.

ge -9
SECTION-C
(S fosm)
(LIFE SCIENCE)

21. 9 & § B9 qEERer B 7@ R 7 1

(A)  HFTT H [ABH

(B) Wbe! &l SUL

(C) T=ma

(D) ST gt

2107/(Set : D)



(13) 2107/(Set : D)

Which of the following is not environment friendly ?
(A) Paper bag

(B) Wooden stick

(C) Balloon

(D) All of the above

22. FARFARGET (CFC) S TR ..o A H THAM Tga o 1
Chemicals like CFC harms the ............... layer.
23. -8 I H A TN B T3 AASH B AELTEHA Bl § 7 1

Which gland requires iodine to produce hormones ?

24. Frafaied o7 & @ FoF € : IR (A) S HROT (R), 999 & -9 R T Suge e
P T HQ U I AT 1

ARFYE (A) : URY § d & ghs B RO SME B &l
RO (R):  PTeRieM T IRY 8MIA &, St a9 &l gha § &8s ol

(A) (A) X (R) 3! 69 € T (R), (A) I TEl AR B

(B) (A) AR (R) I~ 9 &, A7 (R), (A) P T& IR T B
(C) (A) ¥4 &, AT (R) o9 B

(D) (A) 3T9F 8, Al (R) T 2|

2107/(Set : D) P.T.O.



(14) 2107/(Set : D)
The question below consists of two statements : Assertion (A) and Reason (R),
answer the question by selecting the appropriate option given below :

Assertion (A) : Hormones are responsible for the growth of stem in plants.
Reason (R) : Gibberelin is a plant hormone which helps in stem growth.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

25. = ¥ ¥ &9 99g § T 999 G H 9T B 7 1
(A) S (B) THie™
(C) sheied! (D) fEsanfe

Which of the following is a part of the male reproductive system in human

beings ?
(A) Ovary (B) Uterus
(C) Vas Deferens (D) Fallopian tube
26. I Ud e IR i Fr g § 7 2

What is the role of the seminal vesicles and the prostate gland ?

27. Sided fhar 7 Afkaes 1 @ i © 2

What is the role of brain in reflex action ?
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B Uh TS @l T H gaT »g o ? 2

How do we detect the smell of an agarbatti ?
28. Hsd & WA | &Y T =T & [ (AR T @ &9 9 G o o 3
How do Mendel's experiments show that traits are inherited independently ?

YqT
OR

M, 8L SIS ar Ay 1 GHT PR G AT ad qY | F=EA T

Plant with round, green seeds was crossed with wrinkled, yellow seeds plant :

(a) oW Hafd § ST @ SRy 9 T HEw BN 2
What will be the shape and colour of seeds in F1 generation ?
(b) GHIOT A I 1
Show the crossing with diagram.
29. 5 & AJeH FIT H AHRA & T 3
Draw a labelled diagram of the longitudinal section of a flower.

30. (a) AR AMRE H =T & FT GHH Bl © 2

What is the role of the acid in our stomach ?
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(b) it o & T | IF H arweee & 999 S| B M S| 3

Show the movement of water during transpiration in a tree with the help of

a labelled diagram.

3TeE

OR

(a) G QYT UG fawHOS QT § o X ' 7 2

What are the differences between autotrophic nutrition and heterotrophic

nutrition ?

(b) HFE GrEe o H R SR 3

Draw the labelled diagram of human digestive system.
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